03am Evaluating Logarithms.notebook December 03, 2014

Evaluating Logarithms Dec?2 /Zo 14

y= loga X is equivalentto x = a”

For many problems, we can obtain an exact value by switching
between these equivalent expressions and looking for a
common base.

There are also some general rules we can develop.

Ex.1 Solve
@) y = logs3> 0) y = logs4”
q
3% =39 47= 43

y=2 W=7
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In general: lOgaCLm — x| ™

Ex.2 Evaluate:

(@) log101 (b) log51
Y= |°13,°'\ N :["3:1
o =1 Sd= 4
o =10 §H_co
=0 ‘8—_—-0
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In general: logal| =0 @

~—\s .
Ex.3 Evaluate: Z-wt ( ‘ >o>
(a) 21092:13 (b) 5log5:c

) = 2%:1 5:(") o f_i(x%

Wndo endhn O‘fexu‘
W=fe,x 569 =57
2 =720 ' = 1/\735_

\} ZMZ\\ g(g (ﬂ\ Y
Shys® _
bﬂgg'ix=x
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In general: lo X
d a da

— | ®

What if no common base is possible, and these general rules
cannot be applied?

Recall: Many calculators only allow for a base of 10 or 'e".

y = loggxr o y =lInx

For different bases, we can still calculate the value of a
logarithm by using an equivalent expression.

log g7
logpa

log,r = (4)

Note: we will derive this in our lesson on "laws of logarithms"
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Assigned Work:

p.466 # 3 (usmg rule 1 or 2)
5 (using 1 or 2)

8&5”]9

x

SO = 2

x = %zgo
X = @02(3'05—0
Loy, 2
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